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ts of the nucleus. / S & Sl AT T AL

ﬁ/ Which of the following part|cles are consti @
r 5»

¥ & ﬂ%_d (B) Neutrons and electrons / 7ggr 3R
(A) Protons and neutrons / WigrT 3K L .
(C) Neutrons and positrons / sgg 3R (D) None of these / 5@ & #1§ e |
RUEE
6/Nhat is the value of gravity? / T&= & a9 'ﬂr% ?
(A) 8.7 mt (B) 6.670 x 10" Nm?kg?
(C) 7.9 mt (D) 8.1 mt

ga/‘The complete destructive interference of two' 50und waves takes place when the two waves
are travelling in the same direction. / 39 E.’f tafar i o R 9 AT § 9o ged I Iraw
i freet qof w7 ave geft ar ar-
(B) With the same frequency and amplitude

(A) With the same frequency and amplltude
and are in opposite phase / §HIT Hrq_aj% | T AT T HAH

e 7 RAada &er 7 et
(C) With the same frequency and opposite (D) None of these | 7% q a8 T
phase / AT 3gdafa @ Ruda war #
54 yopia is corrected by spectacle using AR R R A @ e dw &
3I9NT ZEr’T % e § -

M Convex lens / Heialet d& (B) Plane lens / ¥Hae o
(C) Glass / RT (D) None of these / A8 & #I§ Tal |

M The light with longest wave length in the visible spectrumis? /¥ guivg § P | T F e qaY AR

B e ?
(A) dm1/Yellow (B) «wi/Red
(C) =/Green (D) ?ﬁiolet
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6 /Primary colours of Light are . | 91 F TIRF [ § ! |
(A) Red Green, Blue / T, &4, m'r (B) BlaCk Vlo’et Whlte / e, m Ql'aa'

(C) Yellow, Brown, Pink / dieT, % 7@l (D) None of these / §7 & #§ eI |

Name the heaviest body of the §?§§l system 21/ a’h' AUsH # Hed I I T ?
=y
(A) Sun /9|& Sy
f\?f (B) Venus / 4%
(C) Mercury /39 % (D) Saturn / ufa
@/fhe working of an electric ell depends upon which of the following effects of current ? I

g1 # ¥ Fia @1 Ryd 68 § FF W 7901 ST ¢ ?

(A) Heating / &hr (B) Magnetic / gHaHT
(C) Chemical / TS (D) None of these / 1% & #HI§ e |

The current of 0.24 amp passes through a m'chroine wire connected in series of resistance 25 Ohm. The

potential difference will be. / T Rt Avft & Aot AR s w29 3w & 3R Aol g7 &
S & 3w F 0. AR RgA e vafta A ¥ 38HT ALY R F40 gam

(A) 6 Volts / & dlee (B) 16 Volts / t& aee
(C) 20 Volts / 0 dlee (D) None of these. / 318 & #1§ T8 |
\G/O/When a magnet is heated | 39 i.l_,ﬁ IRH gar & @

(A) It loses its magnetism / Ya9%ca @ &aT§  (B) It gain magnetism / Jadcd FgT FIAT ?
(C) Neither loses nor gain matnetism / #1§
Fax

hen phenol‘ is treated with CHCl; and NaOH; the product formed is......? / 3« fheter Y CHCI;

¥ FRfFAr Fa S § @ A mfﬁw A d......?
k2
(A) Salicylaldehyde / m (B) Sallcycllc acid / afaRdfas iz

(C) Benzoic acid / &g Eﬁ?‘:a (D) None of these. / 57{# 3 g e

\/S{Ranmdlne is used as ....... ? I‘ G 1 ST Feenecnnees ?
(A) Antacid / AT x (B) Antihistamine / ﬂﬁ%ﬂé‘ﬂﬁ'ﬂ

(D) Wave nature / !aAa@3

(C) Disinfectant / BfR=waie (D) None of these / S8 q FS G |
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( ¥a 'hich orbital region is the probability for findi%electron in nucleus definite = /
3 fre sffcnd RERFGR ST TR e add 5

(A) 1s
(C) 2s
64 The copolymeris / FofaAT ¥ 43
(A) Nylon-66 / FTgalT - €& (B) PMMA

(C) Polyethene / dreireiiar (D) None of these. / &% @ 1§ =gH |

g5 How would you separate sugar from a mixture with water? / A # g F O A FE R
HAT FAM.eerrrenenns ?

(A) By filtration / U TRT (B) By distillation / 3THdsT TRT

(C) By fractional distillation / f&T 3mH#a« TRY{D) None of these / 573 ¥ A e

66 Magnesium is present in? / ¥+ TN

(A) Haemoglobin / sw& e s (B) Chlorophyll /zeRifse
(C) Vitamin B12 / faefim B2 (D) A & B both/ A & B 2=
7 Which energy is stored in the dry cell ? / 3c&t &« & F\a M 3T &1 HUSK gar § ?
(A) Mechanical / qifa® - (B) Chemical / ":"'Ef@m ”;Iﬂi
(€) Kinetic / aIfd Fat (D) None of N%I 3T H @ W A
;8 Which of the following is the biggest particulate ma . A & gaW =1 R[AY ggi 7.
s
(A) Soot / TE (B) Fly ash / (Fd13 ©H)
(C) HNO; droplets / (HNO; Zdae) (D) None of thes / (31 & FI§ w7¢l)

9  Which one of the following is correct / RFAfaf@a # ®i &1 wEY 872

(A) Both bases and alkalies are soluble in water (B) Alkalies are soluble in water but all bases ar

1 &9 AR ool Ol & W1 Qo a@wr ¥ not / JTerEel YRl I Reawe axar ¥, afkw aw a8

(C) C:HsOH is a base because it has OH (D) None of the above / AR q PE TS
group / A T A aoE H AW §

a
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MCommon name of CaOCl; is - / CaOCl; & qe&rw 7™ ¥ -

(A) Baking Soda / @Rt &1 ®YaT (B) Bleaching powder / selifRiar 93t

(C) Washing soda / &\e¥ &7 @¥eT é&l;) None of these / g1 & 1§ A

During G, phase of cell division__-x, | PFT Rsmerer & S 9vor e
T

(A) RNA and proteins are syntheSized J 3 (B) Cell prepares for M-phase / ®If&3t &1

T ¥ T AT HT weeIr i ’ qaT U WO & fAv

¥ v
(C) Cell undergoes duplicationw F (D) None of these / 37 & & 1§ A
AFel FelelT

72 Which of the following is important for muscle contraction and nerve impulse transmission?

/ wherh i B Rigey AR ARt & F o ¥

4

(A) Ca™ ions / @ ¥ +3 A (B) Ca** and mg*‘ions /W ¥ ** 3k wHsh
++ MEHA
(C) Fe*'ions / % § ¥ 3mga=T (D) None of these / 5T & & 1§ 8l

73 The example of hermaphrodite animal in which cross fertilization occurs is __ / & swaRi ug
¥ qe-Fie e St R 2

(A) Hydra / =&gn (B) Earthworm / agen
(C) Silkkworm / twm # (D) None of these. / & & FI§ ¢l |
74 Biofertilisers include:- / Sta @4} #(Hﬁﬂﬁﬁr -
A £

(A) Blue-green algae, rhizobia, other ¢ (B) Blue-green algae, rhizobia and other

nitrogen-fixing bacteria and mycoa‘lp;,za fungi. nitrogen fixing bacteria. / sfier gRe dare,
| e g dare, vzl = ST R A RydiFor a sfary

Wmmmﬁ’%‘

(C) Rhizobia, other mtrogen@éﬂxmg bacteria (D) None of these / 34 # & H1§ A
and mycorrhiza fungi / TSN, 3+ AFLIAA
Rydietor w3t ard shamf stk aAgeEReT Faw
7S The cells which are responsible for the production of antibodies are ___. / ¥mfters & 3= &1
a9 P B ? i
(B) Red blood cells / = == &

(A) Lymphocytes / e
(D) None of these / 3% & ®1§ g |

(C) Platelets / <=de
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83 Jrnk e-mail is also called | §iF &-Ad &Y 8t Fer JaT T

A) Spam / QulA
(A) Spam / (B) Spoof / TIE

(C) Cookie Crumbs / Fr FHIH (D) Sniffer Script / @AWt AR
84 The default view in Excel is view / TFdd # Bwee Y g Ay
(A) Work / a&F

ﬁ Normal / dTda

(C) Roman / U&= % (D) None of the above / 53 & #I§ ¢l

85 This is not a function category in Ex{g% / TFHA A TF FERIT FEd
« 7
(A) Data Series / 31eT RS
- (C) Text / Tae

(B) Financial / Br$afge
(D) None of these / 38 & H1§ ¢ |
86 What are the two examples of freeware? / % & @ WRAIT & & 30T HiT F &2

(A) WinZip and Linux / R«few 3k fasew (B) Shareware and file sharing / AR 3R
wIsd AFRT
(C) Microsoft Word and the Google toolbar / (D) Instant messaging and the Google

AEFRTE 78 AR IEE AR toolbar / eI HERETEeT 3R IFTA TR

g7 Help Menu is available at which button? / §+7 A9 f%® FeaT W 39 §?
(A) Start / ¥

(C) Restart / R¥eré

(B) Turnoff / ei3T®
(D) None of these. / 3% & #1§ =gl |

88 Which of the following is a programming language for creating special programs like applets
2 / Tedw 3R R g free F A @ F @ s s |
(A) Java / Srar tk " (B) Cable / ¥ae
(C) Domain name / A AR (D) Net / a2

' . po . . .
89 When a“ r:al-tlme telephone call betvz:gn people is mWhe internet using computers,
it is called- '

."!.

(A) a chat session i (B) an e-mail

(C) Internet telephony (D) None of these / S8 & #§ &l |
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‘7. Essential amino acids are those which are ? / smaw® it oneg e T 3

(A) Needed in vital activities / 3 Rearsii & (B) Taken from food / =m & &

(c) For Sleeping ?’& ) None of these / m # m Fl'ﬁ |
77 The Minimum carbon number in a carbohygfn‘?,isfl FrEfEEEe # FET F ~yeTaA wE€AT g &

(A) 6 /¢ ™ (B) 373

g, y
(C) 1/ (D) None of these / 38 @ #1§ =l

78 Which of the following is really a product of the honeybee ? / rFfaf@a # & #I ¥ TIEae
# AYAE FT 3098 ¥
(A) Pollen / 9T (B) Propolis/ graiferg

(C) Bee's wax / #YAH (D) None of these / 3a® @ F1§ 8 |

79 Carbon is obtained by the plants from air in which form ? / 9reu¥ GART §91 # § Fed vy a9
® for Smar § 2

(A) CO, (B) CO;
(C) NO; (D) None of these / A& & H1§ ET |
go Nephridia is the excretory organ of / Jwfam e 3jg &1 s smd?
(A) Amoeba/ et (B) Earthwarm/&gsm
(C) Cockroach/ =m3= (D)Q}!;ﬁ?.;hl Rt
g1 Which of the following is hardware and not soﬂwarg,@ﬁﬁﬁﬁa##mmm%m
(A) Excel / va (B) Printer Driver / fi=eX siéav

(C) Operating System / 3Taféer RAvew (D) CPU

g2 Which of these is a point-and-draw device ? / 73 & &l &1 Wge g fRamy § 7

(A) Scanner / §heR (B) Mouse / AT3®

= (C) Printer / Rex (D) CD-ROM / #if2-0w



A byte is a collection of . | & dI3¢ & FaFId

90

A) Four bits / aR f¥ew

(A : (B) Eight bits / 315 Rew

) L2

(C) Ten bits / & facH (BYsTwelve bits / aRE e
91 99th term of the series 2+7+14+23+34+ ;?ys 2 | 247+14+23+34+ ....... FH FT 99th 9g F1

(A) 9998 (B) 9999 - T .

(C) 10000 (D) 10010

g2 How may diagonals can be drawn in a polygon with n sides - / n $f3il aral agaLel # paa

ot & sr wwd & 2
(A) n(n-3) / 2 : (B) n(n-4) / 3

(C) n(n+2) / 3 (D) n-2

g3 Sum of 5+8+11+14—— 22th Terms will be 2 / 5+8+11+14-—— 22 & Ug T IANT RO 2

(A7 803 (B) 903

(C) 1003 (D) None of these / & & 3 =&

94 The ratio of the radii of two wheels is 3 : 4. The ratio of their circumferences is ___. / & &
¥ Broad 3 : 4 3 ou & 31 I oRRET 1 org 4 & ?

(A)3:4 (B) 4:3
C)3:2
(©) (D)Nqﬁ@oftheselsﬂﬁﬂiﬁ?ﬂ?fl

o5 A man sold an article at a loss of 20%, If he hadms;z);%it for Rs 50 more, he would have gained
R
Q}%&%ﬁﬁﬁéa@mm#sﬁwﬁ | 9 38 I 50 &. B

L3

5%. The cost price of the article was ___. / U9
X 3=, ﬁﬁsnﬁm*rmgwﬁmna&gﬂw—gﬂwg%&é‘
AL 2

" (A) Rs 250 87 Re 200 , »e
(C) Rs 180 Ot 1) of (D) None of these / gef# & 1§ =Tt |
Q97 2484 e
e s sAgRSF AT X
- ‘ b A | ~ ’ / <z .

% « ‘:‘ .
‘ = &7 7 _ ‘ ’ i -
- . [§ , 4’
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96 Sin2A=ZSinAWhenA-f?ISin2A='28inAEl?A=?
(A)o° (B) 45 °
(C) 60 ° f0D) None of these / sis ¥ FF g

97 ABCD A’ B’ C’ D’ is a cube whose diagonal AC ?’9 gm Volume of the cube is....... Cm3 ?/ABCD A’ B’
C' D’ & ua spfa & forwsr fawot AC = fﬁsn § A 30 T B e ReeT g 2

(A) 81V3 cm® (Vﬂos«m cm®
(C) 963 cm?® (E?None of these / A q T 78T |

98 The internal radius of a hemispherical bowl is 9 cm . This is filled with a liquid. This liquid
is to be filled in small cylindrical bottles. each having base diameter 3 cm and height 4 cm

. How many such bottles are needed ? / & 3¢ NaTsR FeR F J=aRs AT AN T, 77
W EE A QU AT R, 59 59 ¥ 3 Q3 ourw qur v QY . Far f P JearHR age ¥ 2

2
(A) 27 (B) 54

(C) 63 (D) None of these / §I& ¥ 1§ w1d

99 A rectangular field has dimensions 25 m by 15 m . Two mutually perpendicular passages «
2 m width have been left in its central part and grass has been grown in rest of the fiel¢

The area under the grass is : /wmﬁmaﬁm-\ma‘r R Atef o . &, sw i
V@ #Mamméﬁma?m#ammm%m%ahm#mmﬂé

, UTH @9 U HET F] QAP FAT R 2 )
(A) 295 m 2 S A M B ¢
(C) 375 m ? (D) No!é Ethese / 3R ¥ FT @
100 A wheel with a diameter 63 cm, when goes round 1000 times will cover a total distance of ./ % qfgu
H1 4 €3 Ao o F A tooe TFFT T FA W aF Mhaeht g a7 Fw 2 /Lx"/
(A) 1980 meter (B) 6300 meter //b/ 5
(C) 12600 meter (D) 12500 meter \4 3
“ -

o>
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